Algebra-Level 3-4

Domino Delight
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v You need {/] a set of dominoes
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1. The total number of dots on each domino is one
T less than on the domino behind it.
[ty | Draw each domino.
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2. The total number of dots on these five dominoes is 35.
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: Each domino has two fewer dots in total than the domino in front of it.
Draw each domino. g
- 3. This is a domino doughnut.

: | a.  What do the dots on each side total?

\ b. Use the same dominoes to make a doughnut

= with a different side total.
Solving problems with possibilities and constraints =2 v



